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CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : C
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I TeT9H 7 GRT g 15 T
797 32 81
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyTUF H e & 3 G R9 T e T_Y 7O G F
B FOT-JikTl & G- 97 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 G GEl, JoT H BB
e [
Before beginning to answer a question, its Serial
Number must be written.
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(2) 4203/(Set : C)
o Fu-gikTm & diF 7 @rll G/ 9 7 88/
Don’t leave blank page/pages in your answer-book.

o JuTyRTE % iR _#HE o e T Al o
ST & [rd ST frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Ty T To FIT-UH GT SgeT fid)

Candidates must write their Roll Number on the
question paper.

. 7] ® FAY @7 @ [ TF Gred &Y [ F97-9H
?}Waaa?é qﬁw%a%ivswww#%?s‘ﬁw
&I TE 9T TE

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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A 3
General Instruction :
(i) & FeT ST &
All questions are compulsory.

(i) 3G Fo7-07 7 F7 32 Fo7 & 7 [F X G 7
gaoTFae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B CandD:
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(3) 4203/(Set : C)

G 9 : 57 @ § 1 716 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G 39 @ 717 @21 T 75 797 &,
9% J97 3 37 # 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
% 997 4 3% F &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 J97 8,
T9% J97 5 37 T &

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ goq1 & o=ikE fAwew _RE 7 &
34 @ G Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4) 4203/(Set : C)
goEg - 3
SECTION - A

1. 0.1521%5%@5?%2%13 1

Express 0.15 in the form P

q

2. f&U 90 x° -2x-8 & LFH H AN A Bl 1

Find the sum of zeroes of quadratic polynomial
x2-2x-8.

S.WSx—y:SGﬁT9x—3y=9 ﬁxﬁﬁ'{yaﬁf
A9 8 1
(A) TH&F
(B) #I3 & &l
(C) A= &

(D) 4 § Hi§ &

The values of x and y from the equations
3x-y=3 and 9x-3y =9 are:

(A) one solution
(B) no solution
(C) infinite number of solutions

(D) None of these
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(5) 4203/(Set : C)

4. 2,7,12, oo A.P. % 10d1 & ¥ : 1
(A) 45 (B) 43
(C) 47 (D) FH & &5 T
10th term of the A.P. : 2, 7, 12, ........... is :
(A) 45 (B) 43
(C) 47 (D) None of these

5. L2913 AP. F FE-FR @
333 3
it 1

. . 15

Find the common difference of the A.P. : 33
9 13
3 g

6. ®IcHh § AU =) § | TRl 9=l H AT F]d g, R
N &l GRT 1
L3 U Brgel ey 8 &1 (Sviaerg, §HeR)
Fill in the blank using the correct word given in
bracket :
All ........... triangles are similar.

(isosceles, equilateral)
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(6) 4203/(Set : C)

7. B9 ABC @R DEF &9&Y & 3@ AABC
8I%d = 16 cm?, ADEF & &8I%d = 25 cm? 3R

BC=23cm, d EF 2 : 1
(A) 2.875cm (B) 2.758 cm
(C) 2.578 cm (D) ETH § Hl3 &l

Triangles ABC and DEF are similar. If area of
AABC = 16 cm?, area of ADEF = 25 cm? and
BC = 2.3 cm, then EF is :

(A) 2.875cm (B) 2.758 cm
(C) 2.578 cm (D) None of these

8. IE UH g P 8 O %= an el g9 W PA, PB @y
W WER 80° & & W FaHl &, A LPOA TR

2 1
(A) 80° (B) 50°
(C) 40° (D) 70°

If tangents PA and PB from a point P to a circle
with centre O are inclined to each other at an
angle of 80°, then ZPOA is :

(A) 80° (B) 50°

(C) 40° (D) 70°
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(7) 4203/(Set : C)

9. R ®M &l yfdf Hifor : 1
T G B o TR Tt @ & HE 2
Fill in the blank :
A circle can have ............. parallel tangents at
the most.

10. (4, 7) &R (10, -1) &gett & &= & g & B 1

Find the distance between the points (4, 7) and

(10, -1).

11. (4, 7) 8% (2, 3) %@aﬁ@rﬁaﬁaﬁﬁ%@mqwﬁr—g
SId T
Find the mid point of the line joining the points
(4, 7) and (2, 3).

12. cos 48° — sin 42° & AN 3T BT 1

Evaluate : cos 48° — sin 42°

13. AABC #, RT9® #I B H 8, AB = 24 cm IR

BC=7cm & sinC & A9 & : 1
w 22
B =
©
= 4 &5 o
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(8) 4203/(Set : C)

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin C is :

24
A =
7
B o=
7
©

(D) None of these

14. 21 cm PBedT 9 OF g9 & TF 99 &% W 60° & S0
3R P 81 AT Hl TG ST BT 1

In a circle of radius 21 cm, an arc subtends an

angle of 60° at the centre. Find the length of arc.

N C

15. 19, R aw=E, R ok SuE AT 10 m, 8 m

3 5m H MEAA & : 1
(A) 400 m3 (B) 200 m3
(C) 300 m3 (D) T & F T

The volume of the cuboid, whose length, breadth

and height are 10 m, 8 m and 5 m respectively

is :

(A) 400 m3 (B) 200 m3

(C) 300 ms3 (D) None of these
4203/(Set : C)
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(9) 4203/(Set : C)

16. 3 U P TH AT BB A 51 A G Bl AT B
AN 12 § BIE A Igb A BN B WG S
it 1
Two dice are thrown at the same time. Find the

probability of getting the sum on the dice is less

than or equal to 12.

gvg - q
SECTION - B
17. fas Fitw 7 /5 s omuRay d@e B 3
Prove that \/g is irrational.

18. TR p(x)= x* ~5x+6 H TR glx)=x>-2 F 9
HITQ ANTEA T QUGS ST BT 3

Divide the polynomial p(x)=x*-5x+6 by the
polynomial g(x)=x?-2. Find the quotient and

remainder.

19. T% e 10 m Jo fsm § =@l @ R Y 30 m S
fesm &t R TerT 31 ARRE 95 @ g0 §9 S 3

A person goes 10 m due east and then 30 m due

north. Find the distance from the starting point.
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(10) 4203/(Set : C)

20. i3 sin(A—B):%, cos(A+B):é, 0°< A+ B<90°,

A> B, @ A 3R B §d Fife

3

If sin(A—B):é, cos(A+B)=%, 0° < A + B < 90°,

A > B, find A and B.

21. AE-gAHR 5T & ThHS B URM 72 cm &l ITHH
REESIEINIEIEIY

3

The circumference of semi-circular piece of

design is 72 cm. Find its area.

22. & VY :

Solve :
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(11) 4203/(Set : C)

23. T o S H T @ fEEE @ 257 -7x+3=0
% g S i 4

Find the roots of quadratic equation 2% -7x+3=0

by the method of completing the square.

24. 0 3R 50 % 99 fouq gEmet &1 A F FicE 4

Find the sum of the odd numbers between O and

50.

25. 4cm,50m\3ﬂ'{6cm‘ﬂﬁmﬁa’|ﬁ@ﬁ‘ﬂﬁzﬁw
FW AR R 36% o9ed ©F o B @ @

W,Wﬂwﬁﬁtgq%rﬂﬁa%@mﬂmﬁaﬁg
T & 4

Construct a triangle of sides 4 cm, 5 cm and

6 cm and then a triangle similar to it whose
sides are % of the corresponding sides of the

first triangle.
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(12) 4203/(Set : C)

26. gl (5, -6) M (-1, —4) & S a@ TWEE H
y-318 e ofura # fasieia &t © ° 4
Find the ratio in which the y-axis divides the line
segment joining the points (5, -6) and (-1, —4).
Also find the point of intersection.

27. Uh U & Uh q) Bobl Al g1 Mg B o s

% ek STq HifoTT 4
A die is thrown once. Find the probability of
getting :

(i) Uh A¥Y HE,

a prime number,
(i) 2 R 6 % J g BT T,

a number lying between 2 and 6,
(iii) T fqwm e

an odd number.

e - §
SECTION-D

28. T% WM WHEAM =@ § 360 km U T & &
I I8 9 5 km/h ¥ A, @ g8 SE IEr ¥ 1
g7 9 99T Qi ISl B G S i 5

A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for same journey. Find the
speed of the train.
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(13) 4203/(Set : C)

29. 3.5cm Ped & g9 W 3% &= 4 6 cm & g0 W
P fo7g & &1 @l @Sl H AT T 7 W @l
P TS A 5

Construct two tangents to a circle of radius 3.5 cm
from a point P at a distance of 6 cm from its
centre. Measure the lengths of these tangents.

30. Sl oM & UF Ug TT N & WX T & AN 3H
WE g5 ol & % I$ & Rex HF & g @ 8
AR 36 I 30° H HOT I 51 IS B TR &
qq, e 9 @ AR S99 # BW B, 8 m ¥ U @
A S i) 5
A tree breaks due to storm and the broken part
bends so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point

where the top touches the ground is 8 m. Find
the height of the tree-:

3TeE
OR

s i1 5
cotA—-cosA cosecA-1

cotA+cosA cosecA+1
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1
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(14) 4203/(Set : C)

31. 7 cm IO aK T HATHR &b % SHUL TH A @
gO 31 TN 1 Ahad | F1 & bl & ¢ 39
TR §9 S H T 8%d S i 5

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter the
hemisphere can have ? Find the surface area of
solid.

32. MHNRIT RERAr §ed &1 q1e 3 i : 5
ST 50-52 | 53-55 | 56-58 | 59-61 | 62-64
JReRar | 15 | 110 | 135 | 115 | 25

Find the mean of the following frequency
distribution :

Class-Interval| 50-52 | 53-55|56-58 | 59-61 | 62-64
Frequency 15 110 | 135 | 115 25

ST
OR
gy A= Ry deq @ Afgw @@ 28.5 &, @ FA 60
el § x oiR y & 9N 3 HiT ¢ 5
F-STRIT | RS
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5
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(15) 4203/(Set : C)

If the median of the distribution given below is
28.5, find the value of x and y of total number is

60 :
Class-Interval | Frequency
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5

4203/(Set : C)

http://www.bsehonline.com/


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

